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English only. Each item comprises four responses (answers). You will select the response

which you want to mark on the Answer Sheet. In case you feel that there is more than

one correct response, mark the response which you consider the best. In any case, choose

ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the

Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions

sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
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Penalty for wrong Answers :

THERE WILL BE PENALTY (NEGATIVE MARKING) FOR WRONG ANSWERS
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assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer
even if one of the given answer happen to be correct and there will be same penalty
as above for that question.

(fii) If a question is left blank i.e. no answer is given by the candidate, there will be
no penalty for that question.

In case of any discrepancy found in English and Hindi Version in this paper, the English

Version may be treated as correct and final.
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Note : Hindi version of the instructions is printed on the back cover of this Booklet.
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Aptitude Test
Paper 1I
Duration : 2 Hours] [Marks : 200

Directions (Question Nos. 1 to 5) : not demand. I like to have a room

Read the following passage
and answer the questions that

follow :

For myself I demand adventure.
Life without danger would be like
beef without mustard. But since
my life is useful it would be wrong
to risk it for thc; mere sake of risk,
as by mountaineering or motor
racing. As a physiologist I can try
experiments on myself and I can
also participate in wars and
revolutions of which I approve. By
the way, love of adventure does not
mean love of thrills. I spent six
weeks in Madrid during the recent
siege. The only thrill that I got
there was from reading Rimbaud’s
poetry. The satisfaction of
adventure is something much
more solid than a thrill. There are

other things which I desire, but do

TS : 14/(PY1I—A

of my own with some books, good
tobacco, a motor car, and a daily

bath.

The writer of the passage
Wiiscassiinesscaiavasons %

(A) a scientist

(B) an excursionist

(C) fussy about cleanliness

(D) a multi-faceted person

The writer is an adventurer........... g

(A) but averse to taking undue
risks ol

(B) for the sake of pleasure |

(C) and a revolutionary thinker

(D) and a compulsive seeker of
thrill

Find the odd pair out based on
your reading of the passage :

(A) Mountaineering : Adventure
(B) War : Revolution
(C) Madrid : Rimbaud’s poefry

(D) Physiologist : Experiments
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For myself I demand adventure.
Life without danger would be like
beef without mustard. But since
my life is useful it would be wrong
to risk it for the mere saké of risk,
as by mountaineering or motor
racing. As a physiologist I can try
experiments on myself and I can
also participate in wars and
revolutions of which I approve. By
the way, love of adventure does not
mean love of thrills. I spent six
weeks in Madrid during the recent
siege. The only thrill that I got
there was from reading Rimbaud’s
poetry. The satisfaction of
adventure is something much
more solid than a thrill. There are
other things which I desire, but do
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of my own with some books, good
tobacco, a motor car, and a daily

bath.

The writer of the passage
M sramessyaapsnesremyvian b

(A) a scientist

(B) an excursionist

(C) fussy about cleanliness

(D) a multi-faceted person

The writer is an adventurer........... .

(A) but averse to taking undue
risks

(B) for the sake of pleasure

(C) and a revolutionary thinker

(D) and a compulsive seeker of
thrill

Find the odd pair out based on
your reading of the passage :

(A) Mountaineering : Adventure

(B) War : Revolution

(C) Madrid : Rimbaud’s poetry

(D) Physiologist : Experiments
P.T.O.



The phrase ‘beef without mustard’
illustrates.......ccccoovvveeeeen. .

(A) a culinary habit

(B) an analogy

(C) a religious practice

(D) an anecdote

The word ‘siege’ means............... "
(A) seize

(B) a blockade

(C) cease-fire

(D)  seismic activity

Directions (Question Nos. 6 to 10) :

Read the following passage
and answer the questions that
follow : : ‘

Now though this prodigious mass
of humbug is meant to delude the
enslaved class only, it ends in
deluding the master class much
more completely. A gentleman
whose mind has been formed at a
public school and a university, is
much more thoroughly taken in by
the falsified history and dishonest
political economy and snobbery
taught in these places than any
worker can possibly be, because the
gentleman’s education teaches him
that he is superior to the common
run of men whose duty it is to run
his errands and earn his income
for him. He honestly believes that
the system which has placed him

TS : 14/(P)/I1—A

in such an agreeable situation is

the best of all possible systems. He

would go to the extent of shedding

his blood and that of others to the

last drop in its defence. But the

great mass of our under-paid,

treated-as inferiors, workers

cannot feel so sure about it as the

gentleman.

The passage talks about two types

of people including :

(A) gentlemen and tyrants

(B)  theruling class and the ruled

(C) pretentious and straight
forward people

(D) the rich and the poor

The passage......cc..ccccevrnrvnennnns our

educational system.

(A) criticizes

(B) investigates

(C) laments

(D)  opposes

Gentlemen produced by the

educational set up are projected

PR osuemuarase :

(A) fine and dedicated fellows

(B) honest believers in the
worth of the educational set
up

(C)  oppressors of the masses

(D) deluded by a false sense of
superiority



The phrase ‘beef without mustard’
HIUBLEEER . coviciwsiiniicanons .

(A) a culinary habit

(B) an analogy

(C) a religious practice

(D) an anecdote

The word ‘siege’ means............. &«
(A) seize

(B) a blockade

(C) cease-fire

(D) seismic activity
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Now though this prodigious mass
of humbug is meant to delude the
enslaved class only, it ends in
deluding the master class much
more completely. A gentleman
whose mind has been formed at a
public school and a university, is
much more thoroughly taken in by
the falsified history and dishonest
political economy and snobbery
taught in these places than any
worker can possibly be, because the
gentleman’s education teaches him
that he is superior to the common
run of men whose duty it is to run
his errands and earn his income
for him. He honestly believes that
the system which has placed him
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in such an agreeable situation is

the best of all possible systems. He

would go to the extent of shedding

his blood and that of others to the

last drop in its defence. But the

great mass of our under-paid,

treated-as inferiors, workers

cannot feel so sure about it as the

gentleman.

The passage talks about two types

of people including :

(A) gentlemen and tyrants

(B) theruling class and the ruled

(C) pretentious and straight
forward people

(D) the rich and the poor

The: DBEBBBER sk ioniopasnsasasias our

educational system.

(A) criticizes

(B) investigates

(C) laments

(D) opposes

Gentlemen prodiced by the

educational set up are projected

BB ey :

(A) fine and deducated fellows

(B) honest believers in the
worth of the educational set
up

(C) Oppressors of the masses

(D) deluded by a false sense of
superiority |

P.T.O.



10.

As per the passage our educational
set up needs t0........cceevvvieereiennnnn. g
(A) become realistic

(B) introspect

(C) be inclusive

(D) reflect the above at (A), (B)
and (C)
tone of the

(. TOOUURERRPR :

(A) neutral

passage

(B) pessimistic
(C) ironic
(D) bombastic

Directions (Q. Nos. 11 to 15) :

11,

Each sentence below has two
blanks and is followed by four
sets of words. Choose the set
of words that best fills in the
blanks.

Nehru was the first to........cc...... the
idea of a Constituent Assembly
long before such an assembly
WBE: csvussssassaersinis under the Cabinet
Mission Scheme.

(A) manipulate; set up

(B) articulate; set up

(C) assimilate; flourished

(D) facilitgte; sent off

TS : 14/(P)/1I—A

12.

13.

14.

15.

It requires a sense of..................... .
assurance, and self confidence to
write about bores at all,............... as
one of them.

(A) . inferiority; against

(B) superiority; accept

(C)  superiority; except

(D)  inferiority; except

Folk literature..........cc.cccecrumenecen.. the
beliefs of people as they............... in
popular custom, tradition, magic
and ritual.

(A) stops; go

(B) tells; mixed

(C) records; appear

(D)  record; make

His grief, which had.............c........ for
8 BhortWHIlE, ....cocieseessssonssonions and
tears his heart with a greater force.
(A) abated; returns

(B) increased; goes

(C) lost; returns

(D) bounced; revives

If you had your...........coeneenee , would
you work for eight hours a day
Y g O Y VU with a full
pension at forty five.

(A) choice; stay

(B) option; stay

(C) stake; continue

(D) choice; retire



9. As per the passage our educational
sot up needs 0. ... ;
(A) become realistic
(B) introspect
(C) be inclusive
(D) reflect the above at (A), (B)

and (C)

10. The tone of the passage
M i ossneimi s ;
(A) neutral
(B) pessimistic
(C) ironmic
(D)  bombastic.

fewr (W &, 11 | 15) :
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11,
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Nehru was the first to.................. the
idea of a Constituent Assembly
long before such an assembly
W s mmissionas under the Cabinet
Mission Scheme.

(A) manipulate; set up

(B) articulate; set up

(C) assimilate; flourished

(D) facilitate; sent off
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12.

13.

14.

15.

It requires a sense of...........cccceeunnee :
assurance, and self confidence to
write about bores at all,...................
as one of them.

(A) inferiority; against

(B) superiority; accept

(C) superiority; except

(D) inferiority; except

Folk literature..........ccccccceeiinnnnneen the
beliefs of people as they............... in
popular custom, tradition, magic
and ritual.

(A) stops; go

(B) tells; mixed

(C) records; appear

(D) record; make

His grief, which had..................... -
for a shortwhile, ........c.cceeesnainnnns and
tears his heart with a greater force.
(A) abated; returns

(B) increased; goes

(C) lost; returns

(D) bounced; revives

If you had your........cc.ccoueeeene , would
you work for eight hours a day
75+ T EPRTIRRRAR S 2. with a full
pension at forty five.

(A) choice; stay

(B) option; stay

(C) stake; continue

(D) choice; retire

P.TiO.



16.

 ly 8

18.

Social facilitation is the facilitation
of practiced responses by :

(A) an audience

(B) intense aloneness
(C) drugs

(D) neighbours

Which of the following definitions
or descriptions is incorrect ?

(A) A primary group is one that
meets face to face

(B) Co-actors do not share
common goal nor they do
communicate much with
each other

(C) An ad hoc group is an
enduring group that fulfills
more than one goal for its

members

(D) A cohesive group has the
members who are tightly
connected to the group

Who is the person responsible for
experiments on obedience to

authority ?

(A) Milgram
(B) Lewin
(C)  Sheriff
(D) Byron

TS : 14/(P)/II—A

19.

20.

21.

Who gave the theory on cognitive

dissonance ?
(A) Jones

(B) Latané
(C) Festinger
(D) Fre.ud

In order to prevent group think

from emerging, a leader :

(A) should avoid isolating the
policy makers

(B) should attempt to get all

sides of an issue aired

(C) should not make his/her
preliminary opinion known
until the members of his/her
staff have presented their

opinion
(D)  All of the above

Festinger proposed that groups are
particularly likely to pressure
their members to conform group

standard when the group is :
(A) Deviant

(B) Opportunistic

(C)  Cohesive

(D)  Small



16.

17.

18.

graIfee ST (facilitation) 3rd1 &
TR ST T TS0 &9 g1 ¢

(A) TR

(B) @il & 31
(©) 3™

(D) WS

Frefafiea aftymer =n faamo 8 9 S
Ted & 2

(A) Wafes |9E 98 § S SHA-9EA
e €

(B) Te-31fiar & & <49 @l 9™
# sfed 78 1 TH-gE ¥ daieny
TE H

(C) FFrT=nier THE AE1 gHen e arel
g & St 91 wewihl & ol
TF ¥ R &Y # afEs S
2

(D) T TESIH THE B WU TH-gH
% WY 9gd U9 F A ©

Y § Y e 3 99 & 9id S
] Y4 (experiment) 3 a 2

(A) Taemmm
(B) wfew
(C) oftw

(D) sEH
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19.

20.

21.

gareas sEfa w faEd feen <
d 2

(A) S=9

(B) ®EH

(C) ®RETR

(D) wEsS

gfesw o< &1 YFe 31 q T &
foae, = 3@ 1 F wE Afey ?

(A) /W (policy) S el I 3T
HH F T =T

(B) frdt off fawa & @it weqged =
Sd AT ey

(C) 3 wRfys fomrd +i 79 7 Tl
FaHl wfed o 9% T 39 §R
Hreft sro-379 faumR W A o
3

D) TR & ¥ W o €

BT & SER TYE S e
W fedt Arogre & FER € 99 &
fod o St ¥, 59 WHE ol €
(A) 9IS
(B) IagLEE!
(C) TEsis

(D) B
P.T.O.



22,

23.

24.

25.

I's

one has to the members of a group
just by virtue of having a shared
in history with them.

(A) Consensus
(B) Obligation
(C)  Cohesiveness
(D)  Stereotype

............................ facilitation is the
facilitation of dominant responses

by an audience.

(A) Contingent

(B) Dependept

(C) Evaluative

(D)  Social

B0 & R only
the worst performance in each
group matter.

(A) disjunctive task

(B) social loafing

(C) conjunctive task

(D) flexible consistency

| ¢ (O O Sy N every

member’s contribution counts.

(A) an Additive task
(B) a Disjunctive task
(C) a Conjunctive task
(D)  All of the above

: 14/(P)TI—A
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26.

27.

28.

(A)

Peoples overestimating the
typicality of their own behaviours
is an example of.............ccccceu.... bias,

a false consensus effect.

(A) causal

(B) negative
(C) positive
(D)  egocentric

When one takes behaviour closer
to its face value than it really is,

it is known as :

Inconsistency
(B) Fundamental attributional
error
(C)  Self-serving attribution
(D) (A) and (C) are correct

The tendency to look only for
confirming evidence and not to
look for disconfirming evidence for

a hypothesis is called :

(A) Confirmation bias

(B)  Availability

(C) Wishful thinking

(D) Self-serving attribution



22.

23.

24.

25.

freat (loyalty) U1 $149E § S 998 &
Heuifidl § 2 & $ad 39 9 9 T
I U WY TH & sfaes | 9rfierd
F off | 98 YT Fead © :

(A) gedfa
(B) TwEH
(C) |ESHAT
(D) wfganfear

m%aﬁzﬁmﬁmw
JUEITAr S

(A) SAfHfg=d
(B) R

(C) T
(D) SIS

AR (contribution) HFYU Fal ¥
(A) Sired aen FE

(B) @ffg drea amen A

(C) Toem =t &/

(D) 9t S 9& T
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26.

27.

28.

& N7 399 = & oAder &1 Iy

% Sifs & 9o WiHTERE B T
(A) &R

(B) ¥=h1UHSE

(C) HHWHS

(D) HTHH =

o @ A 397 FdeR wl SHE!
srfead ¥ Rl fead g 9ed & &9
W%?ﬁ'&'@ﬂa%:

(A) s

(B) #ifers AU <
(C) =4 Afad Aam
(D) (A) =1 (C) W&l &

a8 gHa St e gfshed1 1 qifad
F I Tl H1 AR A T A F
39 Fedl ® W S 99 Hifed T H
® 3, 39 gFE H FE S E

(A) wifed & 91e qag
(B) SUST=HEE

(C) =gy fe=H

D) @Wd # fag FH & A
P.T.O.



29.

30.

31.

32.

THEere arO....-cosseoivics=dliss cultures
without a moral system.

(A) many

(B) unique

(C) no

(D) systemic .

Kohlberg believes that the
development of morality is
primarily an issue of............ccceeernee.
development in which a child

learns to take a broader

perspective one one’s own actions.
(A) Cognitive

(B) Behavioural

(C)  Universal

(D) Abstract

A BB 3B Gisic ot he/she
cannot see the world from someone

else’s perspective.

(A) altruistic
(B) distressed
(C) empathetic
(D) ego-centric

Altruism is behaviour motivated
by :

(A) the desire to look good
(B) the desire for gain
(C) the desire to help others

(D) thoughtlessness

TS : 14/(P)1I—A
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33.

34.

35.

36.

Equity is :
(A) a type of distributive justice
(B) legal justice

(C) a type of procedural justice
(D) a decision

The suggestion that frustration is

a powerful determinant of

aggression is known as :
(A) Correspondence bias

(B) Frustration aggression
hypothesis

(C) General aggression model
(D) Causal relationship
The tendency of a group member

to shift toward extreme positions
than those they initially held by
the individual members as a result
of group discussion is :

(A) Group polarization

(B) Group think

(C)

(D) Identity interference

Cohesiveness

‘Feather’ is related to ‘light’ in the
same way as ‘rock’ is related to :

(A) Bread

(B) Salty
(C) Firm
(D) Food



30.

31.

32.

(D) =aafd

=1 391 = &I el &1 T Hen
gon Uity Hremr 7

(A) HIETHS
(B) =HgeRIcHAsh
(C) fava=ia

gfan =1 gud % 9 | T8 aE e |
(A) IS

(B) =afga

(C) wArgyfagel

(D) A EH

TG T TH SHeer & & A el
¥

(A) 3T=31 S H FEA F
(B) 9 ! HEA F
(C) T *l WEE FA HI FHEAT ¥

(D) 3ssTH [
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33.

34.

35.

36.

Trafed ® :

(A) T&% W& & faaomeas =99
(B) AT =4

(C) T YHR & ARIcHE =™
(D) TF hEeT

Iz gz % ®a TF agd gEenel
FF B & STERMEHA FI, 3T 39 AH
/T I OT

(A) TAER YaE

(B) Hal-AhRTEEHT qiehed

(C) W 3Tl &1 HISd

(D) FrEamE Hay

o Ta forad wgE & wevrt =y feufq
T T W § 59 fefa @ gee @
I%M IE H I o1 R I B B
e & I9 % Hoawed| 3 wed
g

(A) B Yeittm

(B) g9 faw

(C) wHSHl

(D) WBEH H =

‘G’ & ‘gewl’ | 9@ W™ TS
‘e’ @ frefafea 9 %
(A) &
(B) TH&HHA
(C) T3
(D) Hr=H
PT.0.



37.

38.

39.

‘Lumberjack’ is related to ‘axe’ in
the same way as ‘Chef is related
to :

(A) Bow

(B)  Poker
(C)  Chisel
(D)  Colander

Which number should come in
place of in the following
analogy ?

aabbbabba' : YYZZZYZZY ::
XXZZXZZX

(A) 12211212

(B) 22112112

(C) 211221121

(D)

21211221

Which number should come in
place of in the series given
below ?

165, 195, 255, 285, 345,

(A) 435
(B) 375
(C) 420
(D) 390

TS : 14/(P)11—A
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40.

41.

42.

Which term of a letter series
should come in place of [?| in the
following series ?

ecmw, hrb, [?], rbl, wgq, blv

(A) mwg

(B) mxg

(C) wmx

D) lwg

Find the odd word out :
(A)  Violet

(B) Green

(C) Gold

(D) Silver

Which one of the following belongs
to the group of Shark, Cod and
Eel ?

(A)  Whale
(B)  Dolphin
(C) Conch
(D)  Oyster

Which one of the following belongs
to the group of Sial, Sima and
Mantle ?

(A)  Asteroid
(B) Ionosphere
(C) Comet

(D) Core




37.

38.

39.

‘T ® CHeeEl ¥ FE W
: S ‘e’ w1 frefafe ¥ % -
(A) FFHT TR

(B) =gl

(C) =

(D) B

frefafaa agveed 4 7] % =
W FAE e A =fer ?

aabbbabba :

XXZZXZZX -

YYZZZYZZY ::

(A) 12211212

(B) 22112112
(C) 211221121
(D) 21211221

fretfafea Seen 3 [7] & T WS
g 3 Amey ?

165, 195, 255, 285, 345,

(A) 435
(B) 375
(C) 420
D) 390

TS : 14/(P)/II—A
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40.

41.

42.

43.

frefafea S@en § A& @ B
Fr g [7] & T W I ey ?
emw, hrb, , rbl, wgq, blv

(A) mwg

(B) mxg

(C) wmx

(D) lwg

IS TE M HIC
(A) SR

(B) ®0

(C) dm

D) T

frfefag § ¥ 9 TH, FE R
@ ® gYE A ¥ ¥ ?

(A) &
(B) effewA
(C) ==
(D) ST

refafag #§ @ 9 o, fam el
oo & wgE H @ ¥ ?

(A) TEUTS
(B) S3TEAMERR
(C) =R

(D) &R

P.T.0



44.

45.

46.

If TEACHER is coded as
XWPBRWM and HIGHLY is coded
as RSNRDZ, how will you code
CHARITY ?

(A) BPRNSBZ
(B) BRPMSZB ‘
(C) BRPMSDZ
(D) BRPMSXZ

If ROSE is coded as 6821, CHAIR
is coded as 73456 and PREACH
is coded as 961473, what will be
the code for*SEARCH ?

(A) 246173
(B) 214673
(C) 214763
(D) 216473

Ravi walks 8 km North-East and
then he walks 6 km South-East.
What is the straighline distance
between the starting point and the

end point ?
(A) 10 km
(B) 14 km
(C) 7 km

D) 12 km

TS : 14/(P)1I—A
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47.

48.

49.

Pointing to a girl, Amit said, “This
girl is the wife of the grandson of
my mother”. What is Amit to the

girl ?

(A) Father

(B) Uncle

(C) Father-in-law
(D) Husband

Five friends, Abraham, Nahun,
Edgar, Solin and Taylor went
independently to office. Each one
of them reached at a different time.
Edgar and Abraham were among
the first ones to lead. Taylor
reached before Solin. If only
Nahun reached after Edgar and
Solin, who was the last person to

reach ?

(A) Abraham
(B) Nahun
(C) Solin,

(D) Taylor

How many 8s are there in the
following number series each of
which is immediately followed by
7 but not immediately preceded

by 6 ?
7866867887886877867868787
(A) One

(B) Four

(C) Two

(D) Three



44.

46.

gfe TEACHER 1 XWPBRWM &
®9 § 3k HIGHLY ! RSNRDZ #

¥ # Heafed A S @ CHARITY
I AT HY Fpied HA 2

(A) BPRNSBZ

(B) BRPMSZB

(C) BRPMSDZ

(D) BRPMSXZ

gfg ROSE 1 6821 & &9 H Hefied
fmar se, CHAIR & 73456 & &9
1 Hepfeq far ST SR PREACH 1
961473 & ®9 H Gied fHar W,
@ SEARCH &1 %2 91 =M ?

(A) 246173
(B) 214673
(C) 214763
(D) 216473

o 8 fordlt Tm-gd =1 iR Yoo =
%, oel 9 9% 6 Tt sfam-d =t 3R
e ol §1 weaH fag o wafa
fag & ot =Faw d@id W@ w1 g
e ?

(A) 10 et
(B) 14 T
() 7 st

(D) 12 fest
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48.

49.

17 -

T @S ! fe@m g AHa 3 e,
Yoz ereeh! B AT % 9 @ g g1
ifqa 39 @EH! &1 F T 8 ?
(A) foar

(B) ==

(C) Yagt

D)

3R 2eR @ad Y ¥ FEET T W
TF e §HY W UEAl TR AR
STeTRY HH gl Yeaq arel § 91 TR
Hifed & Uga 9ga1| g e e,
TR 3R dHifd & 9K g @ 9=l
afer # wE=N SEn A A9 ?

(A) ETRH

(B) e

(© e

(D) TR

frfafea sen gaen # fha T8 8

% foe aopra a8 7 @ Tbeg, Aok
TeA 6 A B ?
7866867887886877867868787

(A) T=
(B) =W
©

(D) @M

P.TQ.



If it were possible to make
meaningful English word/s with
the first, third, fourth and sixth
letters of the word LEARNING
using each letter only once, how

many meaningful words can be

formed ?
(A) Four
(B) Three
(C) Two
(D) One

Directions (Q. Nos. 51 to 55) :

Each of the question Nos. 51 to 55
is based on the information given
Read the

information carefully and answer

below. following
the questions accordingly.

Seven volumes of an encyclopaedia
are to be published, one after the
other, by a publisher. There are
only seven slots available and only
one volume must be published in
a slot. The seven volumes are of—
Politics, Geography, History,
Science and Technology,
Economics, Environment and
Current Affairs— and their order
of publication is as per these
conditions :

be

‘Geography volume’

must published before

TS : 14/(P)/II—A
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51.

52.

‘Environment volume’; History
volume’ must be published
immediately before’ Current
Affairs volume’, ‘Economics’
volume cannot be published
immediately before or immediately
after ‘Environment volume’,
‘Science and Technology’ volume
must be published either on first
or on seventh slot and either
‘Geography volume’ or ‘Economics
volume’ must be published on
fourth slot.

Which one of the volumes cannot
be the volume that is published

first ?

(A) Politics

(B)  Geography

(C) Current Affairs
(D) History

If “Current Affairs Volume” is
published immediately before
‘Geography Volume’, then which
one of the following could be true ?
(A)

‘Economics volume’ is

published first

(B)  ‘History volume’ is published
fifth

(C) ‘Geography volume’ is
published last

(D) ‘Politics  volume’ is

published second




50. af¢ LEARNING &% Te&a, dree, 919 g =nfew; ‘s @', ‘wmfas
AR B el w1 faomeR wdw s Tl @UE’ F Tohied Ued WaRI
YE/IEE] F, TIF AT F OUH TH e =nfey; ‘eredvre @ue’ wEierm
FR WA A g S S HHA G gre' & I Ysd I qohldl 9
&, @ feat T8 s s 2 ¢ wep1fer =l foman < wehar; ‘fawm iR
(A) =X ZFATEArS WU’ YgH 1 9iad e W
(B) @ SEY g g =ifew, SR W
C) = ‘e woe! A Sdvre e’ =9
(D) TF e § 3Evy ywivd B =ieg)

3yt (W. &, 51 ¥ 55) : 51. ﬁﬂﬁf@a@?ﬁﬁﬁaﬁﬁgwm
T i 51 R 55 ww wAE Ay | O o wve o @ www ¥ 2
3t g8 9o Ut euniia ¥ | Frefafaa (A) TSTHITeTE
GO @ ATgEs uier 3 6 (B) i
AR I ) (C) wmfas T
fodt favasyr & 9@ @S, T & (D) =fae™
T T, T ER T B T | 52, aft ‘e ged wve’ e e’
%1 vewE & fau d9w 9@ @k ¥ % dohlal 9gd YHIeIG BAT ¥,
IR TIF T H TE @IS SEL frafafes 4 & @ T am ?
YFIYTE AT ¥ WA ©UE T (A) ‘refme @ve' GagYH eI 2
TeHIfaeme, i, 3faeE, fasm 3R (B) ‘sfaerg @ve’ uf=d e § yaifea
TS, ST, e SR gmiEs BT
e ST ITH YHEWH FH FA (C) ‘site @ve’ ot H Wiy g
frfafaa vaf & SR 8 ;e (D) ‘usHifaye Bwve’ gl wWie A
Toe' 'gafery @ve’ & ved Wl et g .

TS : 14/(PVII—A 19 PTXO.



53.

54.

55.

If ‘Politics Volume’ is published at
second slot, then which one of the
following can be published third ?

(A) History volume

(B) Economics volume

(C) Environment volume
(D) Current Affairs volume

Which one of the following could
be true ?

(A) Geography volume is
published seventh

(B) History volume is published
third

(C) Environment volume is
published third

(D) Geography volume is

published fifth

If ‘History volume’ is published at
the sixth slot, then which of the

following volumes must be
published at the fifth slot ?

(A) Environment
(B) Politics

(C) Geography
(D) Economics

TS : 14/(P)/II—A
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Directions (Q. Nos. 56 to 59) :

56.

In each question two statements
followed by two conclusions are
given. You have to take the two
given statements to be true even
if they seem to be at variance from
the commonly known facts. Read
the conclusions and then decide
which of the given conclusions
logically follows from the given
statements disregarding the

commonly known facts.
Statements :

Some apples are oranges,
Some oranges are bananas.

Conclusions :

1 Some apples are bananas.

11 Some bananas are oranges.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Neither conclusion I nor II
follows

(D) | Both the conclusions I and

11 follow



53. afy ‘Terifaerer @ve’ W W H | fger (0. %, 56 W 59) ¢
wehIfeTa B &, o Frefafed & | sEw = vl IS e & Fied
R e d g g ? o e
L) feu T ¥ AYH S FHIE B FA
it i . AT % WSl & 3 I §9 9§ 9
(C) WA B aedl § far € freawsl =1 ufen SR
(D) EEfyEF w2 @S oot wifer o m Fread, formm s
54. Trafafeg § ¥ 9 |& 8 ? w9 A 919 9% W SAF < g, dfpn
(A) ;ﬁ:’mmwﬁm = & S e A A e frfa g
(B) 3fiee @ve dMl e H YN s A
ahm 56. YA :
(C) Tatare Tue d e # g %9 99 TR ©|
i FP TR B ol
D gied R EDING
(D) Y&l @vg i frer
B
55. afz ‘sfem @ve’ B8 W H Whiv™ E g e 5
2 &, < Frerfefiaa 3 @ 3 v e II %3 % &R T
# eravg weiva @ =feq ? (A) waa Frepd 1 fofa @an @
(8) T (B) #aw Fread II frfa 2 &
(B) TSI
©) 7 @ frewd 19 11 fofa &
(C) e
i ffa
- (D) 2 fskdd 1 8iR 11 | €
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57.

58.

Statements :
Some rubbers are leather.
All rubbers are elastic.

Conclusions :

I Some elastics are leather.

IT No leather is an elastic.

(A)  Only conclusion I follows

(B) Only conclusion II follows

(C)  Neither conclusion I nor II
follows

(D). Both+the co;lclusions I and

IT follow
Statements :
All coats are bags.
Some bags are toys.

Conclusions :

I Some bags are coats.

I1 Some toys are coats.

(A)  Only conclusion I follows

(B) Only conclusion II follows

(C)  Neither conclusion I nor II
follows

(D) Both the conclusions I and

11 follow

TS : 14/(P)1I—A
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59.

Statements :

Some teachers are adults.
Some adults are poets.
Conclusions :

1 Some teachers are poets.
11 Some poets are teachers.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Neither conclusion I nor II
follows

(D) Both the conclusions I and

IT follow

Directions (Q. Nos. 60 to 62) :

60.

Each question given below
presents a statement followed by
two arguments. You have to
consider the question and decide
which of the two arguments is a

“strong” argument for that

question.

Statement : Should the

healthcare services be

nationalized ?

Arguments :

I Yes. It has been done
elsewhere also.

11 No. The quality of
healthcare services will
deteriorate.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Neither argument I nor II
is strong _

(D) Both arguments I and II are
strong



57. wh¥A : 59. =9 :

5 TR wHel F w7 fas a5 T

B IIEE HfG Bl

gt TR oS Bl 120

gl I w9 foasw &6 2

I %o Ffes w9 & * 11 %9 =fa foes ¥

11 =% of =me sofes T& ¢ (A) waa frepd 1 fofa & ©
(A) Do frewd 1 ffa @ @ (B) ae fresd II frfg @ @
(B) Saw frssd II frfa 2 ©) 7 @ fewd 17 11 fefa @ @
() 7 @ el 19 11 frfa 3 @ () 3 frowd 1ol 11 Friw W &

(D)ﬁﬁsaﬁ'éleﬂ-(n’ﬁyh@-a% fader (W. . 60 | 62) :
4= fou T wSE 9vE H TE YA

R 3R &) a% fau wu &)1 U=l W W
st B e € T R @ ¢ iR g s '
i § q B ‘OeEE’ 9
%9 g fadm 1 ?m
ot - 60. HIUF : F WL @A JA1S H
I &3 Fe ®E 8l e B W S 2
T
I %9 fagm #e g I o 9% o= 29 # o fwan man R
(A) S fresd 1 Fefd & & 1 4, 398 W S@Yd s i
USRI Ee |
(B) ®aa fr=pd 11 ffa & © e N
(©) 7 @ fremd 19 11 ffa 3 % (B) ®aet o II #9¢9d ©

(C) A TR I3 11 9990 ©
fswdd 1 iR 11 ffa :
s w8 (D) 3 @ I 3R II 9@Ea €
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61.

62.

Statement : Is Governorship
better than Chief Ministership ?

Arguments :

I Yes. It is the highest post in
a state.

T  No. The Chief Miniater

commands more power.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Neither argument I nor II
is strong

(D) Both arguments I and II are
strong

Should the
institution of marriage be
abolished ?

Statement :

Arguments :

I Yes. It is already showing
cracks.

11 No. It is necessary for the
survival of the society.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Neither argument I nor II
is strong

(D) Both arguments I and II are
strong

TS : 14/(P)1I—A
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Directions (Q. Nos. 63 to 65) :

63.

Each question contains two
statements ‘A’ and ‘B’. These
statements may be either
independent causes or may be
effects of independent causes. One
of these statements may also be the
effect of other statement. Read
both the statements and decide
which of the answers correctly
depicts the relationship between

these statements.
Statement A : To fulfil the

increasing demand of the
public, cable operators have
now started telecasting
cricket matches.

Statement B : An increasing
number of people crowd in
the stadiums wanting to

watch these matches there.

(A) Statement A is the cause
and statement B is its effect

(B) Statement B is the cause
and statement A is its effect

(C) Both the statements A and
B are independent

(D) Both the statements A and

B are effects of some

common cause



61.

62.

R »

HUA : T TSI AT o ST
£.7?
wh

1 & =z fedt =g =1 geaan Ug B
T

I1 e | geam=t & 9 s9rl AHER
;T

(A) Saet 9% [ ASEd ©
(B) ®aa @ 1l AoEd ©
(C) @ Tk 19 I 9990 &
(D) A @ I R II 759 §

HAT : F faEe Ty S gEE %
a0 =nfey ?
T

] FEH A AR TIAIE AT
i

II aﬁnu%m%aﬁmﬁam
HAEYTF © |

(A) Faet T [ ASEE ©

(B) ®ad d% II T9Ed @

(C) @ @ 19 I1 9/ ©

(D) 241 @ I iR II #w9igd &

14/(PYVTT—A
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s (W, %. 63 ¥ 65) :

T 99T # o FIH ‘A’ 3R B R
L 1 A FE T A WA HRO A
Tehd & YAl 9 WA HRUI1 6 GUH
am%lﬁ.ﬁﬁﬁ@@-@i
Fod F Y9E off & GHar &1 I

o = wfen sk fofa wife e

C I A Y HEE 3T HYAl B GEEY

U L B

63. AT A : WA FI Agdl AT T FA

& fou Saa " A fFde
H] &1 TAHRE T IE T
fen %)

HIT B : 9gd afusw @m 2feaq d =
=i 1 Tl qEH & fog oig
SUIGEES

(A) HI9 A FRU T A FIT B SHEH

qE ¥

(B) ¥4 B S0l ¥ 3R F97 A IHH
quE ¥
(C) SFi &9 A 3R B @WaA ©

(D) 2F 94 A IR B f&d 9=
FWOT B YUE |
P.T.O.



65.

Statement A : Terrorist opera-
tions have ruined the peace
of mind of the public.

Statement B : Our country’s
venture into exploration of
heavy water has come as a
conciliation to people.

(A) Statement A is the cause
and statement B is its effect

(B) Statement B is the cause
and statement A is its effect

(C) Both tl'}e statements A and
B are independent

(D) Both the statements A and
B are effects of some
common cause

Statement A : Liberalisation
policy has attracted many
MNCs to our country.

Statement B : Indian

face

manu-
facturers intense

competition from MNCs.

(A) Statement A is the cause
and statement B is its effect

(B) Statement B is the cause
and statement A is its effect

(C) Both the statements A and
B are independent

(D) Both the statements A and
B are effects of some
common cause

TS : 14/(P)/I1—A
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Directions (Q. Nos. 66 to 70) :

The following are the criteria
for appointing persons for the
post of Technical officer in

BSNL, Shimla, H.P. The

candidate must :

(z) Have passed XIIth
examination with at least
aggregate of 60% in Physics,
Chemistry and
Mathematics.

(i1) Not be more than 22 years
as on 15th July 2013

(tii) Be a
Engineering discipline with
at least 50% marks

graduate in

(fv) Have passed the written

examination

(vy Have  passed

group
discussion and interview

with at least 50% marks.

In case of a candidate who satisfies

all other criteria, except :

(I)  (iii) above, in terms of
percentage of marks but has
secured 90% marks in
graduation, may be

appointed.



64. HIAT A : AGFHIRT BHAl 3 TG ®

65.

g H i 7= F: G T

HUT B : 9 9 # @ i fEEm
# 7R 2w & WO @ni H
THYE $ ®9 § 3T ¥

(A) FUF A FRW ¥ 3R F99 B 3HH

guE ®

(B) F9 B FRU ¥ 3R FA A ITHI

T ¥

(C) i F9F A 3R B @A ¥
(D) €Fi %97 A 3R B &t wm=
FRU H TG T
YT A : IeE Aifd T 7R 2w H
agd ¥ WAL F I
e
FUA B : YO IAEH TH.UAE. §
TSl wiosawl 1 99 R @
Tl
(A) F99 A FRU ¥ 3R Fo7 B ITH
que ¥
(B) FY9 B HRW ¥ R FIT A ITHH
T ¥
(C) SFl &9F A 3R B @Wa= ©

(D) 3F g9 A AR B fHdt wmm=
FRO B YYH T

TS : 14/(P)/11—A

27

fadsr (0. . 66 ¥ 70) :

.09 TH.Tq., fmen, fewrme wiw H

TRl ARl (ST AHE) &

g w fgfam & fe fefafea amgos

%

() Twfaeg, Hft ik wfom § =w
¥ F9 60% Hi & TF XII &
H1 qen I H OB

(i) 15 2, 2013 i g Hew 22 =H
| sfs T 3

(iii) ¥9 | FH 50% FAFI = YU
stfaanf==nt vran #§ Sws 8|

(iv) fafea oden 3ol =t &

(v) TgE TEl 3R TR H wH |
FH 50% 3w ¥ IO A
AfE weareht &= |t wragvEl H wewe

%, 3¢ Do W THE e
(I) 3uded (iii), Tas e § 90%
3w W wE W gl @ oS

HHdal Bl
P.T.O.



66.

(II) (iv) above, but is a post-
graduate in Engineering is
to be referred to the

Director-Personnel.

(IIT) (iii) above, but has appeared
in the

examination,

final degree
may be

provisionally appointed.

You are not to assume anything
extra. These case are given to you
as on 1 June 2013. Based on these
criteria and information provided
above decide the classification for

each case given in the questions.

Raju Chandra has secured 70%
aggregate marks in Physics,
Chemistry and Mathematics in
XIIth Std. and 90% in graduation
in Mathematics and 50% in Post-
graduation. He was born on 25th
February, 1991. He has passed the
written examination and has
secured 55% marks both in group

discussion and interview.

(A) Appoint

(B) Appoint provisionally

(C)  Refer to Director-Personnel

(D) Data inadequate

TS : 14/(P)/1I—A

67.

68.

Mohan Rai has appeared in final
degree examination in Mechanical
Engineering. He has secured 70%
aggregate marks in Physics,
Chemistry and Mathematics in
XIIth Std. He has passed the
written examination and has
secured 75% marks in both group
discussion and interview. He was
born on 15th April, 1991.

(A) Appoint

(B) Appoint provisionally
(C) Do not appoint

(D) Data inadequate

Sameer Aggarwal was born on
19th March, 1992. He has secured
60% marks in both graduation and
Civil

Engineering. He has passed

post-graduation in

written examination and has
secured 60% marks both in group

discussion and interview.
(A) Appoint

(B) Appoint provisionally
(C) Do not appoint

(D) Data inadequate



66.

(I1) 3= (iv), afe sfyaf==t #
AR &, 9 SEE THEE &
e B9 U1 S Hhdl B

(DS (iii), afe gea s gde
i wfese gon &, @ s fgf
& S TRt B

Rl T Afafea IwEfaE & i

aEvgwal el | I fufa o 154,

2013 F1 < T ¥ 1 HHR R 1 & AR

IR guAret & enur W ueAl 7 feg g

TF HY 1 e e i)

TS = 1 X1 &t when 7 frfoem, S

3R o | 70% 3w wra fHw) o

# Eas § 90% 3R FasR H 50%

3% wiw fHu a8 25 wEd, 1991 i

a1 gon | su fofea wdian 9@ =1 3R

e gl 3R WEER H 55% 3AH W

fFq

(A) gl

(B) swerh frgfe

(C) SEER T & IH Ul

(D) yara 33
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67.

68.

Higd 14 3 e st =1 g
Ak gien § yaw femn s X1
e A frfoe, S ok 1fod J 70%
iw W o) o9 fafea oda
1 3R TE 9l R WeehR " 75%
I wrw T 9% 15 3@, 1991 =1
Ta1 gen o1l

(A) T

(B) e g

(C) *Fafem =&

(D) v g

it smETe 19 7H, 1992 i U1 831 |
Iy fafam <Sifafin § =ms 3R
Akl SF1 A 60% 3% wa e
a7 fafaa uden @il =i ) wqe =l
3R AR T H 60% 3% 9w fFY |
(A) Fgfm

(B) e fgfem

(C) Trafe =&

(D) @ 3fFe
P.T.O.



69.

70.

Sonam has secured 60% marks in
graduation in Chemical
Engineering and 70% aggregate
marks in Physics, Chemistry and
Mathematics in XIIth Std. She will
be 23 years old on 10th August,
2014. She has passed the written
examination and has secured 55%

marks both in group discussion and

interview.

(A) Appoint

(B) Refer'to Director-Personnel
(C) . Do not appoint

(D) Data inadequate

Arun Jha has secured 90%
aggregate marks in Physics,
Chemistry and Mathematics in
XIIth Std. He is yet to wait for the
result of the final degree
examination in Electronics. He has
passed the written examination in

Electronics. He has passed and

secured 60% marks both in group

discussion and interview. He was
born on 19th July, 1991.

(A) Appoint

(B) Appoint provisionally
(C) Refer to Director-Personnel
(D) Data inadequate

TS : 14/(P)AI—A

30

71.

72.

73.

The area of the largest circle, that
can be drawn inside a rectangle

with sides 18 ecm by 14 cm is :

(A) 132 cm?
(B) 154 em?
(C) 168 cm?
(D) 161 em?

Four circular cardboard pieces,
each of radius 7 cm are placed in
such a way that each piece touches
two other pieces. The area of the
space enclosed by four pieces is

given by :

(A) 42 cm?
(B) 49 cm?
(C) 56 cm?
(D) 63 em®

4
A tin of oil was B full. When 7

bottles of oil were taken out and

four bottles of oil were poured into-

3
it, it was 1 full. How many bottles

of oil can the tin contain ?

(A) 40
(B) 50
(C) 60
D) 70



69.

70.

TS :

T4 3 Hiberet Sefafin Fit T gaE
7 60% % afsia feu o frfeem,
Hfadt oij nfora | XI1 o e 3 70%
3 wra fo) g 10 3, 2014 =
23 I8 w1 @ Swh | 36 fafea adan
U8 Hi § R G gl AR SRR
Al # 55% 3% W@ feu|

A) T
(B) TriE T B W 91 W

3160 3 3 XII ot e § frfoaw, S
IR i # 90% 3w afia few) =%
oI % JHE EaE TE & aRomd
T 37eft Teften T T 8| S g
1 fafey v sl & & &1 39
e arat IR WETER wWE S0l Hi
3R 2 60% 3w sl w1 a%
19 9o, 1991 & U7 gaw o

(A) ffm
(B) sregrt fgfem
(C) SHER Tdal & U He ST

D) Iara diFs
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71.

72.

73.

TaY g2 Tl F1 a9%d, 99 18 It

3R 14 At 1 el T G B IR
Cripiis eeco ®

(A) 132 T2

(B) 154 &2

(C) 168 Hwi?

(D) 161 JHi2

FEae & IR W THel Hl, o
¥y H1 om 7 I %, W @
@ 9E % 9o THST 74 3§ THa
F YU| IR THS & gRI AaFHd [
F ded R T F HER

(A) 42 {2
(B) 49 ##Hi?
(C) 56 2
D) 63 T2

@aamm%mganmnaa
7 dad ad s9d ¥ e faan T
3R 9N dad qd 399 S 3 T,

m%%mwnﬁqﬁmﬁaﬁaﬁ

I 3 THar € ?
(A) 40
(B) 50
©)

(D)

60

70
P,



74.

75.

TS :

A box contains 10 mobile phones,
out of which 4 are defective. Two
mobile phones are chosen at
random from this box. The
probability that at least one of

these is defective is :

(A) %
® i
(©) %
(D) %

If the height of a pole is /3 meters
and the length of its shadow is 1

meter. Find the angle of elevation

of the sun.
(A) 30°
(B) 45°
(C) 60°

(D) None of the above

14/(P)I1—A
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Thieves

@ OF

@ @

Nor
@leL

Which of the above figures best

Judges

(zv)

depicts the relationship among

criminals, thieves and judges ?

Aa @
B) @)
(C) (@
D) (@)



4. UF oG § 10 Hend wH €, e
F 4 TUE £ 79 S H T Q AEEd
B agfes &9 ¥ 99 fag T T

gy o foF o /A wF eI @

s B :
3
(A) 7
® =
) 9
1
(C) 3
2
(D) 3

75. afc ©F U W SR J3 " AR
soFt o w5 i 1 W ®, @ g
$ TUH B B H YA TS

(A)

(B)

(&)

(D)

30°
45°
60°

e H A wE T
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s EE!
:
(@)

(i2) @ O
Q ()oO

(iv)

s fe o fast § eroue, 9R SR
3 B A9 gy S e O g6l
= IfveTed X W § 27

A @
(B) (@)
(C) Gu)

M) @)
P.T.0.
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If R is the son of Q, Q and Y are
sisters, Z is the mother of Y, P is
the son of Z, then which of the
following statements is correct ?

(A) P is the maternal uncle of

R
(B) P and Y are sisters
(C) R and P are cousins
(D) None of the above

Directions (Q. Nos. 78 to 80) :

Abhay Sharma checked the blood
pressure levels of the patients at
Shimla Hospital, Shimla. He
tabulated the data according to the
number of female and male
patients showing high, low and
normal blood pressure levels.
However, the sheet in which the
data was entered got damaged and

only the following values could be

read :
Blood Pressure Levels | Total
Low | High | Normal
Male
Female 180
Total 60
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78.

79.

However, Abhay recalls the

following information :

(@) 40% of the patients surveyed
showed either low or high

blood pressure.

(ii) 45% of the total number of
patients surveyed are
females.

Two-third of the female
patients had normal level of

(zid)

blood pressure.
(v) 20% of the female patients
surveyed showed low blood

pressure levels.

What percentage of patients

having low blood pressure are

females ?

(A) 50
(B) 40
(C) 60
(D) None of the above

What percentage of the males had

normal blood pressure ?

(A) 56.56
(B) 55.55
(C) b54.54
(D) 53.53



77. A€ R, Q #1 921 ¥, Q R Y =& E,
Z, Y # |1 %, P, Z %1 31 8, @ Frafafea
¥ q 90 HYT @& ¢ ?

(A) P, R & WMl &
B) P3mYTA T
(C) RmPaINE
(D) s § § w8 &

e (W %, 78 | 80) :
firee v vt 3 fRven srerar, R
# sl & WEY ®1 (8 I9N)
FI Sitg F1 1 IR St 3R g 7S
1 e & ER, 354, e SR "
AT W SRSl i ARt A
forelt FRoEw, 2w Al ¥ B
B T 3R Faw Feafafen 579 @

o THd 9 :
TEaaT W &
et | 3= [wm=
i {3l
Hfgen 180
eS| 60

=
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78.

79.

et ot v 7 Frafatea gEsd
w1 g R e

G) S T 40% TS w1 @aE
TR as=E fREE e w
Tl

(i) w9 MU HA AwGSl H 45%
wfgamd 1

Gii) <-faer afeen adsi 1 @Y
THE E

(Gv) S T 20% Hfeen "SI H
&g e 9 T

et T gt wS # Afgensd w1
yfgera &1 & ?

(A) 50

(B) 40

(C) 60

D) 3 H ¥ wE T

fopam wfawra godl &1 W™ GEH
a7 ?

(A) 56.56
(B) 55.55
(C) 54.54
(D) 53.53

P.T.0.



80.

The number of male patients
having low blood pressure is what
percentage of the total number of
(female and male) patients having

normal blood pressure ?

(A) 10
(B) 15
(C) 20
D) 25

Directions (Q. Nos. 81 to 85) :

Study the conditions given
the
questions according to these

below and answer
conditions :
The following are the conditions,
laid down for a group of six friends,
to choose a picnic spot. If they
cannot go to Manali or Shimla or
Chandigarh, then they stay at
home.
(1) The average age of the
group should be more than
21 years to go to Manali.
(2)  If there are exactly 3 boys

and 3 girls within the group,

then they must go to

Manali.

(3) If the total cash with the
group is less than Rs. 5,000,
they stay at home and do
not go anywhere.
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(4) They go to Shimla only if
there are exactly 2 boys and
4 girls in the group.

(5) Each of them should have
finished his/her final exams
before going to picnic.

In case :

P : Condition (3) is violated, but
one of them has a car or
they can get free hotel
accommodation, then
Rs. 1,000 out of the total
expenses can be saved in
each of the two cases.

Q : Condition (5) alone is
violated, but none of them
have final exams in the next
two months, they go to
Chandigarh, which is closer.

On the basis of the above for each

question that follow, mark your

answer as :

(A) If the friends can go to
Shimla

(B) If the friends can go to
Manali

(C) If the friends can go to
Chandigarh

(D) If the decision cannot be
taken on the basis of the
data available



80.

= e g qasn (afgen iR
%) &1 HA GeA H e gl
i TE=TT 9T IR TS Sl 9EA
T ?

A) 10

(B) 15

© 20

(D) 25

T (7. %. 81 ¥ 85) :

iy & 7w Rufel = rmE W
st 37 feafl & maR W wwH
*W%

forfafien TRfefml £, @: il & T
3 fore, u frfe e %1 =97 3
# fou| afe 3 wAEt o Rmer @
woehTg T W §&a, 99 3 W H @

TR
(1) s & o = 3faa 39wt
s & forg 21 96 & stfve Bt
aifeT |

2 afk wgE # 3 @gH 3R 3
wefwal €, 99 3 "l 3avd
I THEA B

3) afk TgE = g Ha g (H)
5,000 TIC ¥ HH & 7@ q W
# & @0 3in wE T8 Sy
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@) 3 femen oot o1 wHA €, 59
g # 2 Te IR 4 @Rl
gl

(6) T8 ¥ T3 & fmfw w
I A TeS AT WHE TEn
T FE B

frdt wRvEw

P . Rk (3) = stfsemo e
1, Sfee afg 3 | el &
U FR ¥ A I oA A g
FW et gha ¥, @ A A
Yy H e @9 5 9 1,000
T FEC S THA ¢

Q : haw ufifeufa (5) =1 sAfasaoT
= o T, Afepw 3 | o
1 off yo@ Tien 3T QA HEH
H 7El &, & 3 TuEhTg S, S
drer TeRIE B

I & YR W To4F I & A

mmﬁuﬁ"mﬁ,éﬁ:

(A) & wsft i feren s @ €

(B) & wft fa wamelt o WA

() T wft firx wveing =1
g

(D) & Suo iFHsS & FMUR W

fofg =@t foan sn e
P.T.O.



81.

82.

83.

84.

85.

Two boys and four girls, having an
average age of less than 21 years,
decide to go out and they have
Rs. 4,500 with them. They have a
car as well as free hotel
accommodation. Three of them
have not finished all their exams.

Six friends decide to go on a picnic
and their average age is 20. They
have a car and cash amounting to
Rs. 4,200. All of them have
finished their exams. There are 2
boys and 4 girls-in the group.

Two boys and four girls, having an
average age of 19 years and
Rs. 5,800 cash decide to go to
picnic. Four of them have their
exams five months from now and
rest have finished their exams.

3 boys and 3 girls with an average
age of 24 years, have decided to
go to picnic, having finished their
final exams and they have
Rs. 15,000 with them.

Two boys and four girls have only
Rs. 3,000 between them. The
parent of one of the friends is
providing a car and another parent
is arranging accommodation for
them. All the friends have finished

their exams and the average age
of the friends is 20 years.
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86.

87.

88.

89.

The value of the fraction :

1+ 2
1+ n s
1+4
when written as decimal is :
(A) 1.5 (B) 2.25
(C) 25 (D) 2.6

Suppose your height this year is
10% more than last year, and past
year your height was 20% more
than it was the year before. By
what percentage has your height
increased during the last two
years ?7

(A) 30 (B) 31

(C) 32 (D) 15
Multiply the consecutive even
positive integers together until the
product 2.4.6.8............... becomes
divisible by 1995. The largest even
integer used is :

(A) between 1 and 21
(B) Dbetween 21 and 31
(C) between 31 and 41
(D) bigger than 41

The average of the test scores of
a class of ‘m’ students is 70 and
that of ‘n’ students is 91. When the
score of both the groups are
combined, the average is 80. What

is o ?
m
10 13
CAYF o ® 15
10 ' 11
(C) 13 (D) 10



81.

82.

83.

84.

85.

afrga 39 21 99 | FH I & o ASHh
3ir =R wefwal s s & fofg oa
£ 3R 39 U 4,500 T T | IS IH
T FR AR A H TR @ HI Faw
¥ = ¥ A9 A o gt g @
& E

: fox & fowfe ® ™ =+ ol
o ¥ I 3hwa 39 20 99 B IR
TG TF HR A 4,200 FIC HY T
Toff 3 s wiied EE & e B
w9 3 2 wed 3R =R w@efE €
3 T=H IR IR wefedl s W
s/ = fofa o) €, foent 2w 39 19
a4 & 3l 5,800 TIY H¥ §1 TH A
=R # e 3" § ufe wEn AR g
3R T A 9 gdend wETE H Al
€l

Iirge =9 24 99 F A dSH AR 9
wefeal fusfm w 1 = folr @«
¥ A1 wem whad gura & . €
3R I W= 15,000 FTIC ¥

3 e R =R wefEdl & U wead
3,000 ¥9¢ ¥ | & firw % war-fa o
FR 9T FU & T 3 g wrar-Tua
7% foru Y 1 e @ T 9
first X aroet ghemd gEra X A 8 SR
I 3Ed 39 20 9 B
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87.

88.

89.

2
g 1+
3
1+——
1+4

T |/ 1 8

¥4 38 TYHEd & w9 H feren 9

(A) 15 (B) 2.25
(C) 25 (D) 2.6

e ofife 29 99 Ut SEn fTsd
g ¥ 10% fus ¥, 3R fose ad
AYFT ST, TH 98 B B HAR
¥ 20% ifa off, firsa <1 a6l & <A
uEt Har feay wfava s ?

(A) 30 (B) 31

(C) 32 D) 15

FAMG 99 YATHE QU W1 3TH
T qa T T HifeY 5 9 F AR
2.4,6,8 ................... s 1995 m ﬁqﬁa
A 9 wgw fFw T e w9
HHYUI ?

(A) 1R 21 % 94

(B) 21 3R 31 & 4=

(C) 31 3R 41 & =™

D) 41 7 31fu=w

‘m’ Taenferdl arell U Fen & T
g ST 2iea 70 § SR’ farnfiEt
el & 1 91 ¥ v B TR H
TRt 1 A fEa s & @ o

803 w2
m

10 13
11 (B) 10

10 11
13 ST

(A)

(C)

P.T.O:



90.

P

91.

The quadrilateral PQRS is a
rectangle. M is any point on its
diagonal SQ. What can one say
sure about areas of two shaded
regions.

V/
R

(A) The area I is larger than
area II

(B) The area I is smaller than
area II

(C) The area I is equal to area
II

(D) Insufficient information to

draw any of the above
conclusion
Six hundred and twenty five
students enter a 100 m race. The
track has five lanes. At the end of
each race the winner survives,
while other four are eliminated.
How many races are needed to
determine the champion ?
(A) 106 (B) 156
(C) 136 (D) 150
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92.

93.

94.

In a group of 50 persons who are
either Americans or French and
each one is either a graduate or
post-graduate. 14 are Graduate
Americans, 31 are French and 18
are Post-graduate. How many are
Post-graduate French ?

A) b (B) 7

) 9 (D) 13

A train leaves Delhi at 6.00 am
and reaches Chandigarh at 1.00
pm. leaves
Chandigarh at 8.00 am and

reaches Delhi at 1.00 pm moving

Second train

on parallel tracks and with
constant speed, at what time would
they meet ?

(A) 9.15am (B) 8.55 am
(C) 10.05 am (D) 10.55 am
At what time between 3 O’clock
and 4 O’clock, will the hands of a
clock be together ?

3
16— mi
(A) 7 mins past 3
(B) . 14 mins past 3
1 ™mins pas
&,
(C) 16— mins past 3
11
. 4
(D) 151_1 mins past 3



90.

91.

wq4s PQRS TF 314 &, 39% fasul
SQ W % & fag M %1 T BEFd
&3l & AIFal $ 91 # FfvEa w9

i FE TN HE ThA T 2

Z

S R

187, 1199 ¥ 991 %
183, 11 &3 | 3 ©
I8, I1 &9 & a0 ¢
Irdwa fodt ot fsed =
e & fog srata g=
T

: 9 =g famdf & 100 m A3
T yfaw 2@ 1 99 W uig wfaat €
o A B ot 1§ fordrar freme e
¥ wafs g 9 Fremfaa @ s ¥
werorar & fuftn & fon fead <

H AEAITFA & 2

(A)
(B)
(C)
D)

(A) 106 (B)

D)

156

(C) 136 150
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92.

93.

94.

50 SAfFEl & TH THg A, S A A
AT € T wEE 3R ySs @
@A EaF &, T EaER 8, 14 Eaw

st ¥, 31 Wil € 3 18
AR &1 e Sasn widE

T2
(A) 5 B) 7
(C) 9 D) 13

T el faeel ¥ 6.00 a9 gaEd
T gedl § 3R 1.00 59 TR 9SG
TEadt ¥ gud @ 9vEe ¥ 8.00
9 qalE gedl € SR 1.00 3 AWE
feeell wEodt &1 THARR 99 W 3R

s fer nfg ¥ 5o w3 v 913

foeittt 2

(A) 9.15 gaiE

(B) 8.55 (@&

(C) 10.05 TaEiE

(D) 10.55 JATE

399 3R 4 79 & 99 few w9 wSt

+1 gEal uw Wy A ?

(A) 3 TR 16-13—1 fitcre

(B) 3 @SRt 14% e

©) 3 TR 16% fiz

(D) 3 TR 15% e
P.T.O.



95.

96.

97.

98.

TS

If the radius of a circle is increased
by 100%, the area is increased by :
(A) 100% (B) 10000%
(C) 300% (D) 400%

If x2 — x — 1 = 0, then the value

of x° — 2x + 1 is :

@A) 2 B) 242
© 3 o 2 *2‘/5

In an objective 'type test with 26
multiple choice questions each
correct answer carries 8 marks and
for each wrong answer 5 marks are
deducted. A candidate answers all
the questions but scores 0 mark.

How many questions did he get

correct ?
(A) 13 (B) 12
({Cy 11 (D) 10
a 835 8.¢ 2 ad
B3 3c 9 a 3ty
is :
81 27
(A) 64 (B) 32
9
(C) 16 (D) 81

: 14/(P)TI—A
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99.

100.

In the follox.aving set of observations
-18,17,0,5, 80,6,5,-13,0,5,-70

we have :

(A) mean = median = mode
(B) mean < median = mode
(C) mean < median < mode
(D) mean > median = mode

The following pie chart represents
a total expenditure of Rs. 5,40,000
on different items in constructing

a flat in a town. The amount spent

on bricks is :

(A) Rs. 75,000
(B) Rs. 67,500
(C) Rs. 1,50,000
(D) Rs. 70,000



95.

96.

97.

98.

Ife T g9 &1 5 F 100% s
E, A SUFT SRS fRaa wEm 2

(A)  100% (B) 10000%

©)  300% D) 400%

A2 —x—1=08, xS - 2x + 1 F1

= 1 8 2

(A) 2 (B)

22

1++5
2

26 sgfashedra yeAl gt Uh aEgiTs
TR e, v W@ I 8
HF F1 ¢ 3R 7% e SW & fan
5 3% ®ed &1 T gl J 9sft weHi
1 IW e | TS Wi 0 T 139
e we il 1 wd SR fem @ ?

c 3 (D)

(A) 13 (B) 12
(C) 11 D) 10
a 3 b 8 e 2 ad
Wi as P e P
3
81 27
(A) 64 (B) 32
9 64
(C) 16 (D) 81
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99.

100.

el & frafafas gge § .
-18,7,0,5, 80,6, 5,-13,0,5,-70
TR U ¥

(A) WA = it = Fgas (H8)
(B) #I%A < HIftAH = Fgas (HIg)
(C) WF < HIfeHH < ogersh (HIE)
(D) =17 > Aifeaw = agas (Hg)

Fr=fafed uE =@ & TR § & w®ie
% fmim d fafis w6l w w5 =@
5,40,000 %. =1 T9iial & ? 3 W E@d
fam w9 feam ® 2

(A) 75,000 =.
(B) 67,500 =
(C) 1,50,000 %.
(D) 70,000 =.

{ T WA 3 3



